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Stuldents are gone on the moose hunt so need more TeSt OCt
Similar to Friday 5

Use the rule for Subtractlon to answer the following:

(show work) Xas oo
@) (27 -(-5) = (¢) (+70) - (-7) =
29 165) -(*‘h ¥ <8
-22) = 7y,
(b) (-18) ;lr(ﬂ:\). = (@) (+22) ( 5) =
= (1) +H-4) -6 Y65
= = 1N
=(-22) wi1)
Use the rule for addition to answer the following:
@ e +an=E99) @ +e=(H13)
N7 \‘\)‘
Sown- s &8

(b) (+40) + (-11) = +Zq @EY+ED= (= ls
245 €29) L)

d.6 Same
Use the rule answer the following:

a) (+5) - (-2) -(+10) ) -(+2) + (
= C‘\’5)+(+2) () (—lf)f( 7-) )
T @) e c—Z.l

= @) + Cwy)
= (- 3)

Use the rule for multiplication or division to answer the
following:

(a) (+54) + (-6) = ( q> (c) (-3)\)(7(;5)= <+ ...'5)

Same

(b) (+12) X (+5) = Q bo) (d) (-99) ~ (-3) =(-l- 33)

SG\W‘_ Sa Mo
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Name: .
Grade 8 Integer Review (Add Subtract Multiply Divide)
Shaded is positive & Unshaded is negative

1. What sum does this set of tiles model? Write the addition equation.

111 @G4) + C3 D =(+ \)

oog

2. Write an addition statement that is modelled by 19 positive tiles and 16 negative tiles and state the sum.

(+\DI W) =3

3. Userules
a)(-8) +(+12) b)(+10) + (-11) ¢) (+5)+(-8) A (-12)+(+5) e) (+15) - (-23)

= s(=\ =(C = (- Gy H(x2
) -\) ¢ &) K3ty

) (29-(-3) g) (+5) —(+14) h) (+17) — (+4) D 8 -+)-(-9 k) (£5)+EFD+(-7)

(24) *eN@+E Yoy e BN THHY
=C2Q) =N °D (+ 1) ) +69) ¢
4. Write the subtraction eqfation modelled by this dfagram (-‘- S)
&-\- |t\) — (+—Q
= k‘\'S)

5. Bryan gets on an elevator at the 35% floor. The elevator goes down 17 floors then up 9 floors. At what floor does it finally
stop? Write an addition statement.

6. Fillintheblank A) (-9)+0=(+4) b) #3)+0=3)
® e®

0000OO00D 0o 060000

®e® 0@ 0ove o o
@2 -
7. Represent the sentence with integers, then find the sum (Write addition statelnent). The temperature fell 12°C then rose
17°C. What does the sum represent?

)+ () = (+9)
—‘_B'M b\'\A.h.a(. WOS g rise of s.,

(~{?) +/Q3) +Ce G

8 A diver starts at sea level, goes dowm 10 m, rises 3 m. drops 6 m and rise3 11 1
a)  Represent the sentence with integers, then find the sum. L_ )+ (. ‘) + (,5 |\)

Gr/s) + (=Y

£

b)  How much further must the diver rise to reach the surface?

He 1s 2 Belew sSurface. (_ 7_“ )
9. Which expression has the greater value?
a (N-(2) b) (7)) -(+2)

) + (+2) 0+ A-:s 3«.:\«'
10. Find 2 intégers that would make each of the sente&es trie.
a)  Positive integer — positive integer =+9

(vb!‘) - (ﬁ| ) =%9

b)  Positive integer — negative integer =+9
¢ -(1)=*9

¢) Negative integer — negative integer =+9
1) -Gy ==+9

11. Use rules to find the product or quotient
a) (+72) = (-9) b) (+42) x (+2) ) (-15)x(-3) 4) (-18)+(-2)

(-8) ) ) @ )

e) (-6) x (+3) D (-45) + (+5) -,
(-18) -9) '

12) Use the distributed property to find the product
g

Q) (37)x(+04) = —34 72 x(56)= & 4o33)
30 A : -0 2 .
qo [ 3 | i
i 100
g +
y
Iy Y32

13) Write and solve an equation for each word problem.
A) Sam pays bagk his mom §7 a day for a debt he owes her. If his total debt is $63. then how many days will it
take Sam to pay back the debt?

(-13) () TE W e

Saw K ANQ
=@ Yo Py bec
e debk.
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Test OCt D Quiz On Rules
Adding, Subtracting, Mugmig)grrlg?\){yﬂng

.Worksheet

Warm Up Quiz tomorrow on rules of add, subtract, multiply and divide

Homework Solution:

2y (+9)+ 33 =48 sheet 209
P L+ (D)=
A (myrzd=n
I RE- I
) ()2 <+
D e+ L) =0

Dy GDraN-s B E) e
Q (e N=-a ) EV+D= 4
Q) (i) rEy -l ¢ Hens-g

5}& (-4‘)1. (*7) =13
) (©) CO)=b
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Review of Grade 7 Adding Integers & Modeling

1) For each of the following Model with tiles   

a. (+5) + (+1)		b.   (-1) + (+8)		c.  0 + (-5)		d. (-7) + (+4) 





e. (-2) + (-2) 		f.    (-6) + (-5) 		g. (+4) + (-4)		h.  (-12)  +  (+8)



  

2) Use number lines to model each addition below (Use number line sheet provided)

a. (+6)+ (-4) 	b.  0 + (-2) 	c.  (-3) + (-7)	d.  (-8) + (+5)           e. (-9) + (+9)         f.   (+12) + (+6)

g.  (-14) + (-1)  	h.(+3) + (-14)



3) Fill in the blank with the correct integer.

a. (+5) + ___  =  +8		b.  ___ + (-3)  =  -4		c.   (+3)  + ____  = +1

b. (-5) +  ____ = -3		e)  (+2)  + ___  = +1 		f.  ____  + (-6)   = 0



4) Add the following using addition rules

a. (+2) + (+3)		b.  (-3) + (+4)		c.  (-4) + (-5)		d.  (+8) + (-1)

[image: ][image: ]e.  (-10)  +  (-6) 		f.  (+4) + (-13)

5) Write the addition equation modeled by each number line

a. 							b.





6) Show work for  each of the following (do the question in steps)

a. (+7) + (-5) + (+6)		b. (-9) + (+2) + (-3)	c. (+1) + (-6) + (+11)	d.  (-3) + (+5) + (-1) + (+8)		
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Grade 8 Math SHEET 283

Review of Grade 7 Subtracting Integers & Modeling

1) For each of the following use the subtraction rule (show work)   

a. (+5) - (+2)		b.   (-3) - (+6)		c.  (-6) - (+5)		d. (-7) - (-1) 



e. (+3) - (+8) 		f.    (+7) - (-9) 		

  

2) Use tiles to model each subtraction below (make sure you state the answer )

a. (-1) – (-3) 		b) (-4) – (+3)			c) (+4) – (-2)		d) (+4) – (+1) 





e.  (+3)  - (+5)  		f)  (-5) – (-3)			g) (-6) – (+1)		d) 0 – (-3)







3) For each of the following use the subtraction rule (show work)   

a.  (+5) – (+4) 		b) (+6) – (-8)			c) (-7) – (-1)		d) (+4) – (-7) 





e.  (-3)  - (+8)  		f)  (+5) – (-7)			g) (0) – (+2)		h) (-20) – (-11)





h. (+6) – (-6)		j)  (-8)  - (+8)





4) The Temperature was 21o below  at Midnight and rose to 2oC by noon.  What wan the total increase in temperature.  REPRESENT the above as a subtraction question? 



5) Is the order important? (Show work)

a. (-2) – (+3)		(+3) – (-2)		b)(-5) - (-3)		(-3) – (-5)	



6) Show work for  each of the following (do the question in steps)

a. (-5)- (-1) - (+3)		b. (-4) - (-6) - (-1)	c. (-5) - (+8) - (+6)	d.  (+10) - (+3) - (-7)	









[bookmark: _GoBack]e) (-2) – (-8) –(+4)		f) (-3) – (-3) – (-7)	g) (+4) – (-1) – (-5)	h) (-3) – (-4) – (+5)	
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Name:
Grade 8 Integer Review (Add Subtract Multiply Divide)

Shaded is positive & Unshaded is negative

. What sum does this set of tiles model? Write the addition equation.

EEEN
HIENE

. Write an addition statement that is modelled by 19 positive tiles and 16 negative tiles and state the sum.

Use rules
a)(-8) + (+12) b)(+10) + (—11) C) (+51+(=8) d) (-12) +(+5) e) (+15) - (-23)
n (24)-(3) Q) (+5) - (+14) N -(+) ) (B-(+4)-(9) K @5+

. Write the subtraction equation modelled by this diagram.

/

HHEHH

Bryan gets on an elevator at the 35" floor. The elevator goes down 17 floors then up 9 floors. At what floor does it finally
stop? Write an addition statement.

Fillinthe blank  A)  (-9) + (1= (+4) b) (+3)+(1=(-5)

Represent the sentence with integers, then find the sum (Write addition statement). The temperature fell 12°C then rose
17°C. What does the sum represent?





8 A diver starts at sea level, goes down 10 m, rises 3 m, drops 6 m and rises 11 m.
a)  Represent the sentence with integers, then find the sum.

b)  How much further must the diver rise to reach the surface?

9. Which expression has the greater value?

a) (+1)-(2) b) (-7) -(+2)

10. Find 2 integers that would make each of the sentences true.
a) Positive integer — positive integer = +9

b)  Positive integer — negative integer = +9

C) Negative integer — negative integer = +9

11. Use rules to find the product or quotient
a) (+72) + (-9) b) (+42) x (+2) c) (-15) x (-3) d) (-18)+(-2)

e) (-6) x (+3) f) (-45) = (+5) 9) (

12) Use the distributed property to find the product
a) (-37) x (+94) b)  (-72) x (-56)

13) Write and solve an equation for each word problem.
A) Sam pays back his mom $7 a day for a debt he owes her. If his total debt is $63, then how many days will it
take Sam to pay back the debt?
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Grade 8 Integer Review (Add/Subtract/Multiply/Divide)

Name:

1) Model the following using tiles and state the answer
a) (+6)x(-3) b) (-4) x (-5) ¢) (-7) x (+3)

2) Sketch a number line that represents a) (+3) x (-8) b) (+7) x (+5)

3) Write a multiplication or division sentence for the following situations:
a) Kim spends $60 for $7 week. How much is spent in total?

b) A diver makes 3 descends of 20 meters below sea level. What is his final depth?

c) The temperature of a chemical increases 2 degrees each hour. If the total change is +16 degrees then how
long did it take for this change to occur?

d) Sarah earns a total of $144 from selling books at $9 each. How many books did Sarah sell?
4) Write the repeated addition as multiplication
a. (-2)+(-2)+(-2)+(-2)

b. (+3)+ (+3) (+3) +(+3) +(+3) + (+3)+ (3)

5) Use the distribution property (Box method) to answer the following
a. (-14) x (+26) b) (-74) x (-52) c) (+18) x (+30) d) (+40) x (-46)

6) Write a division equation for the following (Hint: Write a multiplication first)

| | |

| I |
I I O L1 | L1 1 |
11T 1717 1T "1T"1T 1T 1T T"1
9B 765432-101 2





7) For the following division statement write multiplication statement

a. (-72)+(+9) =(-8) b) (+42) + (+6) = (+7)

8) For each of the following find the next 3 numbers in the pattern and state the pattern rule (Use a calculator)

a. +1,+7,+49,+343, , ,
b. -2,+6,-18, , ,
c. -8,+8,-8,+8, , ,

9) Using the numbers -10, +7, 0, -8, +9, -11 find the following:

a) The greatest product

b) The least product

10) Use the rules for the following (WATCH the operations)

a) (-60) +(-5) b) (+14) + (-3) c) (-63) —(+12)
e) (+27)+(-3) f) (-16) — (-14) g) (+25) + (+14)
g) (-7) +(-8) h) (-15) x (-2) i) (-18) +(-6)

d) (-9) x (-7)

e) (-12) x (-7)

i) (-72) = (-8)

11) Find the 2 integers that satisfy the following (Hint list factors of the product)

a) Aproductof +36 but give a sum of -13

b) Multiplies to give -24 butaddsto +2

e) (-7) +(-22)

f) (-51) — (+14)

k) (-26) — (+8)
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